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a) Which number could you multiply g by to get the product 57
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b) Which number could you multiply % by to get the product 47
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29(09\9
Sarah shares a bag of candy with her friend Emma so that each of
them get 15 candy. How much candy did the bag contain?
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a)Write an equation that you can use to solve the problem
let b represent the number of candy in the bag originally
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Example 1)
Grandma has enough money to give the same amount to
her five grandchildren.

After Grandma gives them the money, each grandchild
has $25 . How much money did Grandma have to start?
a) Write an equation to represent this problem.
b) Solve the equation.

c) Verify the solution.
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Example 2)

' The school's student council sold T-shirts for charity. The council
,\\\ [~ bought the T-shirts inboxes of 40. The studento
the cost of each T-shirt. Each T-shirt sold for $Z6.~ What did the
student council pay for 1 box of T-shirts?

u,o\( let, % = Ihe cos+ of 1 box

S
co
— :7 u&h““

ABon el
a) Write an equation to%present this problem then solve the equation.
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o The cost of 1 box is $800
= ¥00

B) Verify the solution
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add to your notes (variable on the bottom)
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